
Whats in the Gift A' ( )
What number is in each gift?

1,096 - 483 = 1,270 - 899 = 583 - 118 =

1,466 - 822 = 875 - 687 = 1,217 - 649 =

906 - 475 = 1,471 - 671 = 933 - 572 =

1,473 - 772 = 1,241 - 824 = 1,763 - 896 =

1,629 - 709 = 901 - 233 = 1,342 - 890 =

1,100 - = 448 1,176 - = 741 905 - = 271

1,771 - = 888 1,333 - = 592 1,047 - = 451

1,151 - = 550 1,123 - = 793 1,053 - = 262

1,049 - = 728 923 - = 134 1,026 - = 179

816 - = 613 1,268 - = 592 1,600 - = 725

- 615 = 685 - 376 = 496 - 539 = 821

- 337 = 348 - 177 = 123 - 648 = 831

- 426 = 542 - 834 = 283 - 651 = 899

- 198 = 120 - 168 = 518 - 964 = 725

- 967 = 307 - 779 = 710 - 728 = 945

Merry Christmas from Math-Drills.com!



Whats in the Gift A  Answers' ( )
What number is in each gift?

1,096 - 483 = 613 1,270 - 899 = 371 583 - 118 = 465

1,466 - 822 = 644 875 - 687 = 188 1,217 - 649 = 568

906 - 475 = 431 1,471 - 671 = 800 933 - 572 = 361

1,473 - 772 = 701 1,241 - 824 = 417 1,763 - 896 = 867

1,629 - 709 = 920 901 - 233 = 668 1,342 - 890 = 452

1,100 - 652 = 448 1,176 - 435 = 741 905 - 634 = 271

1,771 - 883 = 888 1,333 - 741 = 592 1,047 - 596 = 451

1,151 - 601 = 550 1,123 - 330 = 793 1,053 - 791 = 262

1,049 - 321 = 728 923 - 789 = 134 1,026 - 847 = 179

816 - 203 = 613 1,268 - 676 = 592 1,600 - 875 = 725

1,300 - 615 = 685 872 - 376 = 496 1,360 - 539 = 821

685 - 337 = 348 300 - 177 = 123 1,479 - 648 = 831

968 - 426 = 542 1,117 - 834 = 283 1,550 - 651 = 899

318 - 198 = 120 686 - 168 = 518 1,689 - 964 = 725

1,274 - 967 = 307 1,489 - 779 = 710 1,673 - 728 = 945

Merry Christmas from Math-Drills.com!


